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1) �����	� ����������� ��� �
������� ��������� 
���� ��  �����. 

2) !������������ 
����. 

 " �	����#�� �
��� �������� �������� 
	���� 
������� ��
��	� �� ������� ���-

��������. $����, 
	�����	���� �� %���� �
���
�& – � ������� �������� %�����	�	��� 

���������	&� �����	���� ����������& ������������� 
	����. 

$	���� �	 ������������� �	������� � ��	��� '�
��
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��������� �
�������� �� �� ���� ���� ����	�	 α, 	 �	 ������
�� ���� �������-

��� β≤α. (� ��
� 
���	 �	�
���� ���	 ���������� β 
	���� �� 0 �� α, ����� ���������� 

β=α �	���	���� ������	���. 

 ��
����� ���
����  �����: 

1 1
1 60 1000

D n
V

π ⋅=
⋅

;  2 2
2 60 1000

D n
V

π ⋅=
⋅

 

(D – � ��; n – � ��/���.) 

)�-�	 ����������� ���������� V2<V1 

����	 ( )2 11V V= − ξ , 

��� ξ − ������������� ���������� = (0,01-0,02). 
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��	������ ���� ���� 
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��	�� 

( )
1 2

2 1 1
n D

u
n D

= =
− ξ
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	������ ����� ���� 
���������	�� �����&#�� ��	����� �������������� 

���������� (ξ) 

(
�
���������, ����������� 
����   − 0,01 

���	��� 
����       − 0,015 

��
���	����� �������� 
����    − 0,02 

��
� ��
���� �������� 
����    − 0,01 
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!	��: D1, D2, a(L) 
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2 1D D
a
−γ ≈ . 

2) ��
������ ���� ����	�	 α1 � α2 

α1=180°-γ°=180° 2 1 57
D D

a
−− ° . 

$������������ ��� ������
������� ��
��	� α1≥150° 

                                  �����
������� ��
��	� α1≥120° 

2 1
2 180 180 57

D D
a
−α = ° + γ° = ° + ° . 

3) ��
������ ����� 
���� 

!���	 
���� L 
	��	 ����� ���� ��� ����	�	 �	 �����  ���	� � ��&� ��� ����� �	-

�������� ��	���	. 
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D D D D

L a
a

� �+ −� �= π + +� �� �
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1 2
2 cp

D D
D

+ = , 2 1
2

D D− = ∆ . 

����	 
2

2cpL D a
a

∆= π + + . 

$� �� %�� ��	�
	���� �
	������ ������������ a  

( )2 22 0cpa a D L+ π − + ∆ = , 

( )2 21 1
0

2 2cpa D L a+ π − + ∆ = , 

������� 

( ) ( )2 21
8

4 cp cpa L D L D
� �

= − π + − π − ∆� �
� �

. 

���&�	 ����� �	��� a , ���� �������� L . 
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t

T
F

D
= . 

�������
�� �� ���
�
�� ���� tF   

t tF F
A b

σ = =
⋅ δ

. 

������
�� 
�����
�� 0F  ����
	&� �� σ0. 

!�� ������� �����	�
�

�� � �/� 
����� σ0=1,8÷2,0 ,(	. 

!�� ���
���� ���
�� σ0=1,2÷1,6 ,(	. 

����	 0 0F A= σ . 

����
���
�� ����
 F1 � F2 ������������ �� ����
�� ������, ���������� ��� 

���	����� ���� (��
	��������, ���������, 	����&��� ������). 

1 2
fF F e α≤ ⋅ . 

��������, ��� 

1 2 tF F F− = , 

1 2 02F F F+ = . 
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F
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F
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σ = . 

 !�
������
�� ���� �����	�� ����
������� �	�
������ (ρ≈1,0   10g≈100). 
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g
ρσ = = , 

��� ρ - ��������� 
����, 

(
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���� ���#���� δ �	  ���� � ��	���
�� D ������������ ��������� �	-
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D
δε = , ����	 �
� ������ ��
������ - � E E

D
δσ = ⋅ ε = . 
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